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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 2nd Semester Examination, 2021 

ECOACOR04T-ECONOMICS (CC4) 

STATISTICAL METHODS FOR ECONOMICS-I 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Distinguish between a variable and an attribute. 
চলক এবং gণিনেদর্শক-এর মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

(b) With examples distinguish between class limits and class boundaries. 
উদাহরণসহেযােগ েËণী সীমা ও েËণী সীমােnর মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

(c) Briefly discuss the Pie-diagram as diagrammatic representation of statistical data. 
রািশতেথয্র িচেtর মাধয্েম উপsাপনার পdিত িহসােব বৃt িচেtর সংিkp আেলাচনা কেরা। 

(d) Give two examples where Median or Mode is used rather than Arithmetic Mean 
as a measure of Central tendency. 
dিট উদাহরণ উেlখ কেরা েযখােন েযৗিগক গড় নয়, মধয্মা বা সংখয্াgr মান হেব রািশ তেথয্র েকndীয় 
pবণতার পিরমাপক। 

(e) If the Arithmetic Mean and Geometric Mean of two positive real numbers are 10 
and 8 respectively, find their Harmonic Mean. 
dিট বাsব ধনাtক সংখয্ার েযৗিগক গড় এবং gেণাtর গড় যথাkেম  10 এবং 8, তােদর িববতর্ েযৗিগক 
গড় িনণর্য় কেরা। 

(f) What is seasonal fluctuation? 
মরǖিম পিরবতর্ন কােক বেল ? 

(g) In a moderately skewed distribution, the mean, median and coefficient of 
variation are respectively 50, 53, and 20%. Find coefficient of skewness. 
েমাটামুিট অpিতসম একিট িবভাজেনর েkেt গড়, মধয্মা এবং েভদাì-এর মান যথাkেম 50, 53 এবং 
20% হেল pিতৈবষময্-এর মান িনণর্য় কেরা। 

(h) What do you mean by Index numbers? Explain its utility in Economics. 
সূচক সংখয্া বলেত িক েবােঝা ? অথর্নীিতেত-এর উপেযািগতা আেলাচনা কেরা। 
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2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) What do you mean by a semi logarithmic chart? Point out its advantages over a 
simple line diagram. 
েসিম লগািরদিমক েলখিচt কােক বেল ? সাধারণ েরখািচেtর tলনায় এর সুিবধাgিল উেlখ কেরা। 

2+3

(b) Prove that HMGMAM for any set of positive values. 
pমাণ কেরা েয-েকােনা সংখয্ক ধনাtক মান-এর জনয্ েযৗিগক গড়   gেণাtর গড়  িববতর্ গড়। 

(c) Explain the utility of measures of Relative dispersion. 
আেপিkক িবstিতর পিরমাপgিলর উপেযািগতা বয্াখয্া কেরা। 

(d) Discuss briefly different types of kurtosis. 
তীkতার িবিভn ধরনgিল সংেkেপ আেলাচনা কেরা। 

(e) Prove that 2rbb yxxy , where r is equal to correlation coefficient, 

yxb  regression coefficient of y on x and xyb  regression coefficient of x on y. 

pমাণ কেরা েয 2rbb yxxy , েযখােন r = সহগিতর সহগাì, ybyx  on x-এর িনভর্রণ সহগাì 

এবং xbxy  on y-এর িনভর্রণ সহগাì। 

(f) Explain different components of Time Series. 
কালীন সািরর িবিভn উপাদানgিল আেলাচনা কেরা। 

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) (i) What are the desirable properties of a good measure of Central tendency? 
Compare mean and mode in light of these properties. 

 একিট ভােলা েকndীয় pবণতা পিরমাপক-এর কাময্ �বিশŶয্gিল উেlখ কেরা। এই �বিশŶয্gিলর 
পিরেpিkেত েযৗিগক গড় ও সংখয্াgr মান-এর একিট tলনামলূক আেলাচনা কেরা। 

(ii)  Show that the weighted Arithmetic Mean of first n natural numbers whose 
weights are equal to the corresponding numbers is equal to 3)12( n . 

 pথম n sাভািবক সংখয্ার ভার সংিųŶ সংখয্ার সমান হেল, pমাণ কের েদখাও েয pথম n 
sাভািবক সংখয্ার ভারযুk েযৗিগক গড়-এর মান 3)12( n  হেব। 

3+3

4
 

(b) (i)  Explain briefly why standard deviation is regarded as superior to other 
 measures of dispersion. 
 সমক িবcয্িত েকন অনয্ানয্ িবstিতর পিরমাপ েথেক েবিশ gহণেযাগয্ ? 
(ii)  The mean and standard deviation of a sample size 10 were found to be 9.5 
 and 2.5 respectively, later on an additional observation became available. It 
 was 15 and was included with the original sample. Find the mean and 
 standard deviation of the 11 observations. 
 10 সদসয্িবিশŶ একিট নমুনার গড় এবং সমক িবcয্িত যথাkেম 9.5 এবং 2.5। পের আরও 
 একিট নমুনা পাওয়া েগল যার মান 15। তাহেল 11িট নমুনার গড় এবং সমক িবcয্িত কত হেব ? 

4

6

(c) (i)  If three uncorrelated variables 321 ,, xxx have same standard deviation, find 
 the coefficient of correlation between )( 21 xx  and )( 32 xx . 
 সmnহীন িতনিট চালক 321 ,, xxx -র সমক িবcয্িতর মান সমান হেল, )( 21 xx  এবং 

 )( 32 xx -এর সহগিত gণােìর মান িনণর্য় কেরা। 

5
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(ii)  From the data given below: 
 িনেm pদt তথয্ েথেকঃ 

Marks in Economics 
অথর্নীিতেত pাp নmর 25 28 35 32 31 36 29 38 

Marks in Statistics 
রািশিবjােন pাp নmর 

43 46 49 41 36 32 31 30 

(A)  Obtain the two regression equations. 
 িনভর্রণ েরখা-dয় িনণর্য় কেরা। 
(B)  The most likely marks in Statistics when the marks in Economics is 30. 
 যখন অথর্নীিতর pাp নmর 30 তখন রািশিবjােনর সmাবয্ নmর িনণর্য় কেরা। 

5

(d) (i) Calculate price index number for 2020 with base year 2010 using the 
 weighted Arithmetic Mean of price relatives from the following data. 
  িনেm pদt তথয্ েথেক 2010 সাল-েক িভিt-বছর ধের 2020-এর মূলয্ সূচক সংখয্া িনণর্য় কেরা 

 দাম আনুপািতক পdিতর ভারযুk েযৗিগক গড় পdিতেত। 
Commodity 

(dবয্) 
Price (`)    দাম (টাকায়) Weight

(grt)2010 2020 
A 30 52 8 
B 25 30 6 
C 130 150 3 
D 35 49 5 
E 70 105 7 

(ii) Using the data given below, fit a straight line trend equation by the method 
 of least squares and estimate the value for 2022. 
  িনেm pদt তেথয্র সাহােযয্, লিঘŸ বগর্ পdিতেত একিট সরল �রিখক pবণতা সমীকরণ িনণর্য় 

 কেরা। 2022 সােলর pবণতার মান িনণর্য় কেরা। 
Year 
(বছর) 

2013 2014 2015 2016 2017 2018 2019 2020 

Value 
(মান) 

380 400 650 720 690 600 870 930 
 

4

6

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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